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Where N , d and S are the number of turns, length, and cross-sectional area of the solenoid, respectively.
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[(0.05)* x ] =1.9635% 10" i1, = 24.67 mH

The core material is assumed to be air, because the problem does not mention the materia filling the core.



Problem 8.34

For atoroid whose mean radius p, is much larger than the dimensions of the core, we have:

= &z NE = B=uH-= u£ (uniform magnetic field in the core of the toroid)
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N =+2.604x10" ~ 5103 turns



Problem 8.38
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Assuming an air core, u = u,
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Problem 8.41

The magnetic field in the insulated medium (between the inner and outer conductor) is given by:

H :er_é‘b (can easily be derived from Ampere's law f)l—icﬁ =1).
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